EARAROBEEIERT — 2 N— IBISH —F

2013%2A3H (B) 15EEH4H

Sl C 3+ H5R—M EEE R
[AE4£] 1% :9,000H”  23%:23,000M  3#%&:11,000MH  437%&:8,000H”  53%&:500 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= L= KIRAE 126. -1-1- . — MEEX (SH)
2l 7 7rsET 6 X 1(2_6)0 1-1-1-1 | 40.0 1 36) i;:i'ﬁﬂét
XL ThANAN BUXTATIRLZ e 45035
S—3 g f 5 | ERRAE 1:27.1 5552 (39.8| — | 2 | 428 |EFE= (M)
olglg|¥—T1IET 540 () 5 | B x=257
AL T7AT7 BTN Y 3 =1 A
N it 6 | MRS 1:28.8 4-4-4-4 | 42.2| — 4 456 | RESHE FHH)
3 4| EV—H—-I #:53.0 ®) 1) | &) A=Z5T
Y= JF—I B:LTF174—ILK BEE&]4H5
2 4 5 | BBX#H 1:29.0 8-6-6-6 |41.3| — 6 489 | B RfR— (&)
46| 7VTA 5.0 1) e | AHIEE
RiAY/HF— BiAOXSA K SETT 4
N 48 | BIIIEGA 1:29.6 2-2-2-4 |43.3| — 7 463 | ARASEA (BH)
5/5|5 T E 54.0 (3) (-5) 5LFHBATE
LARZX R N=NN— B:7TaYT—I K KBS
=¢ > 7 # 5 | REED 1:29.9 2-3-3-3 [43.5| — | 3 | 462 |#MIBE (W)
6|1]1|=>¥/T7>TVL 54.0 (1 1/2) (-3 | LM
R:2F4d—I K B:vlL1a Liflib e
73 B4 | BARLE 1:30.1 6-9-8-7 |41.8| — 8 411 | BfR— (&)
7189 |F>73VU b 54.0 (3/4) 1) | B k=257
LA T74T7 B:¥A-—21-21> Fralsis
5 4 5 | BIIE 1:30.8 7-7-7-9 | 42.8| — 9 492 | FHIA (&H0)
8 o | AYIEEX 54.0 @) 4y | NBHE
R:BALINS Ky IR BivA Y=~ 173435
N R - LHFE 131, -8-8- . — HESN (FH)
9 3 AAYELA—" % 4 4 o 1?11)0 8-8-8-7 | 42.8 5 (4_266) Ei%%
L:FEY RY2127 B ¥EXX7s-)L AAFRBEERASERBS
® I—F—@EBIERL
13=3r= 7,(1,5),4,8,9,2,(3,6)
Ao=5"= 7,5,1,4,8,6,2,3,9
3T—7— 7,5,1,4,8,6,2,(3,9)
43—+ — 7,8,1,(4,5),6,(3,9),2
[ RN
B 7 110 74K 7-8 110 & 7-8 100 &R 4-7-8 230M
# B 7 1004 4-7 110M B E 7-8 150 EE 7-8-4 380F4
8 110 4-8 240M B H 7-8 140M
4 1509

ABICOVWTRDTEEERROODE. TR LIV,




